Easiest 8x8 Jigsaw Sudoku,Book 7

Jigsaw Sudoku #1, Puzzle No. 3136472
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Easiest 8x8 Jigsaw Sudoku,Book 7

Jigsaw Sudoku #2 , Puzzle No. 3140369
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Easiest 8x8 Jigsaw Sudoku,Book 7

Jigsaw Sudoku #3, Puzzle No. 3281152
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Easiest 8x8 Jigsaw Sudoku,Book 7

Jigsaw Sudoku #4 , Puzzle No. 3364557
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Jigsaw Sudoku #5,

Easiest 8x8 Jigsaw Sudoku,Book 7

Puzzle No. 3512582
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Easiest 8x8 Jigsaw Sudoku,Book 7

Jigsaw Sudoku #6 , Puzzle No. 3917309
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Easiest 8x8 Jigsaw Sudoku,Book 7

Jigsaw Sudoku #7 , Puzzle No. 3918488
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Easiest 8x8 Jigsaw Sudoku,Book 7

Jigsaw Sudoku #8 , Puzzle No. 4142447
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Easiest 8x8 Jigsaw Sudoku,Book 7,Answers

Jigsaw Sudoku #1 Jigsaw Sudoku #2
4 6 3 2|8 7| 1|7 1 2 8 3 5 4
1] 3 62|88 4|22 8 5 4|67 3
1 | 4 5 6| 7|l 6 8|5|3|7]1 !T
8 ¢4 7|3 s 2 || 3 T 1 8|6 7 2|5
218 4 7|1 6|2 7 T 5 s F 1
712 1|5 3 F 4 71| 5 6|s
gle 7 1 4 5|5 7|14 1|32 8]|s¢s
5 1 8 4|2 3|8 5 3 6 2|4 1 7
Jigsaw Sudoku #3 Jigsaw Sudoku #4
7 2 5 1 6|4 8|2 1|14 6|5 7 3
3 4 |7—5 8|l1(l2 6|5 3 4 7|8 1
8 6 4|2 3 5|4 3 7|18 6|5
2 1 3|6|4 7|58 4 2|7 1|3 6
5 3 6|8 7|(2|1]7|13|6 5|82 4
g8 1 7|5 3|7 4 5 2|1 8
1 7 8|4 2|6||6 5|2 8 1|3 4|7
4 5 2/ 3|1 8|3 1 8 7 2 4|6 5
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Easiest 8x8 Jigsaw Sudoku,Book 7,Answers

Jigsaw Sudoku #5 Jigsaw Sudoku #6
8 2 3|1 6/ 4 5 7|6 4 53 2 87 1
48| 7]16]|3 2 5 B

1 5] 7 4 4 8
6|7 <4|(3|5 2 s 3|6
5 12|87 3 _6 2
3 E 1(2 ¢« 7 6| 3
2 4|65 17| 3 17
7 6 8|4 2 5 1 2 5

Jigsaw Sudoku #7

l 3|6 8 5 7|2 4|8 6|1 2 7|5| 4 3
5 6| 4 T 3 2|1 8| 6|57 2|13 4|8 =2
g8l2| 12|47 5 3 6|7 1|2 4 8 3 5
2|14 7|15 6 1 3| 5 |i 3 ﬂ 2 7 1
3 g8|l2|1 4 6 7|4 2|83 1 7 6]|s
718 5 6 3 Iﬁ 3 8|l6|5 4|21 7
6|7 3 1 4|8 5(2|l2 7 5|8 6 1|3 4
4 1| 2|3 8,6 T 5] 1 Iﬁ 7 5 |_6 2| 8
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